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IBPS Clerk, SBI Clerk Pre, SBI PO Pre and SBI Clerk

exams.

INEQUALITIES QUIZ 8

Directions: The symbols @, ©, S, % and * are used with different meanings as
follows:

'P © Q' means ‘P is either greater than or equal to Q’

'P S Q' means ‘P is either smaller than or equal to Q’

'P % Q' means ‘P is neither greater then nor smaller than Q'
'P * Q' means ‘P is greater than Q'

'P @ Q' means ‘P is smaller than Q’

In each of the following questions assuming the given statements to be true, find
out which of the following of the two conclusions | and Il given below them is/are
definitely true. Given answer

(1). Statements:F*G,GOR,R©O K
Conclusions:l. K*GIl.R@ F

If only conclusion | is true

If only conclusion Il is true

If either conclusion | or conclusion Il is true

If neither conclusion | nor conclusion Il is true
If both conclusion | and Il are true

moO®>

(2). Statements:EOK, K@ M, M *R
Conclusions:. R@ KII.LM @ E

A. If only conclusion | is true

B. If only conclusion Il is true

C. If either conclusion | or conclusion Il is true

D. If neither conclusion | nor conclusion Il is true
E. If both conclusion | and Il are true




(3).

(4).

(5).

Statements: WS N,N%B,B *F
Conclusions:I.B% WIIl.B * W

A. If only conclusion | is true

B. If only conclusion Il is true

C. If either conclusion | or conclusion Il is true

D. If neither conclusion | nor conclusion Il is true
E. If both conclusion | and Il are true

Statements: M % T, T*),J©OD
Conclusions:|. D@ TIL.LJ@ M

If only conclusion | is true

If only conclusion Il is true

If either conclusion | or conclusion Il is true

If neither conclusion | nor conclusion Il is true
If both conclusion | and Il are true

mooOmP

Statements:B@ H,HSN,N% F
Conclusions:. FO HIILN *B

A. If only conclusion | is true

B. If only conclusion Il is true

C. If either conclusion | or conclusion Il is true

D. If neither conclusion | nor conclusion Il is true
E. If both conclusion | and Il are true




Correct answers:

1123 4]|5

C|E|E

Explanations:

1.

As per the information given,
1.F*GmeansF>G
2.GORmeansG2> R

3.RO© KmeansR2> K

So, the final equation will be,
F>G=2R2K

Now,the Conclusion |. K* G meansK > G
the Conclusion Il. R @ F meansR< F
Let's check the Conclusions now,
Conclusion I:

From Kto G
F>G 2 R 2 K

—
Common sign is <

L KLG

Conclusion II:
FromRto F

F>G =R =>2K

| ——
Common sign is <

. R<F

Hence, only Conclusion Il is true.




2.

As per the information given,
1.E© KmeansE2> K
2.K@ M means K< M
3.M* Rmeans M >R
So, the final equation will be,

E>K<M>R

Now,the Conclusion |. R @ K means R < K
the Conclusion Il. M @ E means M < E

Let's check the Conclusions now,

Conclusion I:
From R to K
E>K< M >R
Can’t be compared
Conclusion II:

FromMto E
E>K< M >R

Can’t be compared

Hence, neither Conclusion | nor Il is true.
3.

As per the information given,
1.WS Nmeans W< N
2.N%BmeansN=B
3.B*FmeansB>F

So, the final equation will be,

W<N=B>F




Now,the Conclusion |. B % W means B =W
the Conclusion Il. B * W means B > W
Let's check the Conclusions now,

Conclusion I:
FromBto W

*B=N

Conclusion II:
FromBto W

B=N

Hence, either Conclusion | or Il is true.

4,

As per the information given,
1.M%TmeansM=T
2.T*)JmeansT>)

3.JODmeans)J2 D

So, the final equation will be,
M=T>J2>2D

Now,the Conclusion.D @ TmeansD<T
the Conclusion Il.J @ M means J<M

Let's check the Conclusions now,

Conclusion I:




FromDtoT
M=T>1J)] 2>2D

_
Common sign is <

5.D<T

Conclusion Il:
FromJtoM

2w T=M

| |

M =T>1J] 2>2D
LI<M

Hence, both Conclusions | and Il are true.
5.

As per the information given,

1.B@ Hmeans B<H
2.HSNmeansH<N
3.N%FmeansN=F

So, the final equation will be,

B<H<N=F

Now,the Conclusion|. F© Hmeans F> H
the Conclusion Il. N * B means N > B

Let's check the Conclusions now,

Conclusion I:
FromFtoH

»F=N

Conclusion II:




From N to B
B < HZ<XZXN

e —
Common sign is >

S N>B

Hence, both Conclusions | and Il are true.
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